This language will speak directly to phosphorus and nitrogen:

We know that the two pollutants most responsible for our surface waters being classified impaired are phosphorus and nitrogen. And, we know that the majority of those pollutants come from agricultural practices.

The Great Lakes were becoming much cleaner 20 years ago in part because of elimination of phosphorus from detergents. But, 10 years ago scientists noticed that the lakes were once again seeing new and expanding dead zones. 


The only obvious difference in the watersheds was the introduction of no-till cropping. It turns out there is a form of phosphorus, dissolved reactive phosphorus, coming from no-till acres that washes off fields and into the lakes. Yet, no-till is considered a conservation measure.


It is known that nitrogen was in our rivers in the early 1900’s. Because the Green Revolution uses industrial fertilizers, today’s nitrogen is in the form of nitrate nitrogen rather than the historic organic nitrogen from animal and green manures. Even though organic nitrogen was in the rivers, organic nitrogen needs to break down to be in a form that is available to plants. But nitrate nitrogen is in a form that is readily available to algae and other biological organisms. This nitrate nitrogen, versus pre WWII organic nitrogen, leads directly to the algae blooms and other problems seen in our surface waters today. 

